Math 0308 Final Exam Review-Revised Spring 2018

Solve the given equations. N\
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Solve the following inequalities. Graph your solution

on a number line.
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Write an algebraic equation to represent each sentence.

all steps.
17. Find two consecutive odd integers whose sum is —24.
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Then solve the equation by showing
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18. Find three consecutive integers whose sum is 39.
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19. Twice the sum of a number and negative two is sixteen. Find the number.
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20. The perimeter of a rectangle is 3‘ The length is 2 feet more than 3 times the width.
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What are the @ of the rectangle?
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21. The sum of six times a number and ten is equal to the difference of the number and fifteen.
Find the number.
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22. The perimeter of a rectangle is 64 feet. The length is 7 feet less than two times the width.
What are the dimensions of the rectangle?
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Using the laws of exponents, simplify the following expressions. Write your answers with
positive exponents. Assume that all variables represent non-zero numbers.
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Perform the indicated operations, and simplify all answers.
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Completely factor the following polynomials.
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Solve the given equations.
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Given the following linear equations, complete the table of solution pairs.
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Find the slope of the line that passes through the given pair of points.
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Find the slope and y-intercept for the following linear equation
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Find an equation for the line described. Write your answer in slope-intercept form
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Determine the solutions of the following linear systems of equations. If there are no
solutions, write inconsistent. If there are infinitely many solutions, write dependent.
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Solve the following proportions.
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Set up a proportion and solve the following:
84. A car can drive 132 miles on the highway on 4

gallons of gas. At this rate, how many miles
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83. A cookie recipe calls for 3 cup of flour for 12
can the car drive on 9 gallons of gas?

cookies. How many cups of flour are needed to

prepare 30 cookies?
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